Wir addieren im Kopf

Wir wiederholen (1) 
Lösungszahlen: 6
23
36
49
68
128
216
222
246
36 + 13 = 
_____


36 - 13 = 
_____


21 + 15 = 
_____


21 - 15 = 
_____


98 + 30 = 
_____


98 - 30 = 
_____


231 + 15 = 
_____


231 - 15 = 
_____


112 + 110 = 
_____

Wir wiederholen (2) 
Lösungszahlen: 
64
104
110
157
25 + 45 + 40 
= 
_____


80 - 52 + 36 
=
_____



82 + 34 - 12 
= 
_____


12 + 68 + 77 
=
 _____


Wir wiederholen (3) 
Lösungszahlen:
20
120
370
580
320 + 140 + 120 
=
_____

170 + 110 + 90 
=
_____

390 - 130 - 140 
=
_____

490 - 150 - 320 
=
_____

Wir wiederholen (4) 
Lösungszahlen:
2
117
200
229
270
585
112 - 110 
= _____
173 - 56 
= _____
173 + 56 
= _____
236 + 349 
= _____
312 - 112 
= _____
390 - 120 
= _____

Wir wiederholen (5) 
Lösungszahlen: 
1200
2000
2400
2700
4500
4900
5600
6700
9800
80 ( 70 = __________
90 ( 30 = __________
50 ( 40 = __________
40 ( 30 = __________

50 ( 90 = __________

30 ( 80 = __________
49 ( 100 = __________
67 ( 100 = __________
98 ( 100 = __________
Wir wiederholen (6) 
Lösungszahlen: 
3
3
4
5
5
5
6
6
9
60 : 12 =
_____

75 : 25 =
_____

90 : 15 =
_____

99 : 11 =
_____


52 : 13 =
_____


90 : 18 =
_____


96 : 16 =
_____


42 : 14 =
_____


70: 14 =
_____


Lösungsblatt

Grundrechnen Klasse 5

Wir addieren im Kopf

Wir wiederholen (1)
36 + 13 =
49

36 - 13 =
23

21 + 15 =
36

21 - 15 =
6

98 + 30 =
128

98 - 30 =
68

231 + 15 =
246

231 - 15 =
216

112 + 110 =
222
Wir wiederholen (2)
25 + 45 + 40 =
110

80 - 52 + 36 =

64

82 + 34 - 12 =

104

12 + 68 + 77 =
157
Wir wiederholen (3)
320 + 140 + 120 =
580

170 + 110 + 90 =
370

390 - 130 - 140 =
120

490 - 150 - 320 =
20
Wir wiederholen (4)
112 - 110 =
2

173 - 56 =
117

173 + 56 =
229

236 + 349 =
585

312 - 112 =
200

390 - 120 =
270
Wir wiederholen (5)
80 ( 70 =
5600

90 ( 30 =
2700

50 ( 40 =
2000

40 ( 30 =
1200

50 ( 90 =
4500

30 ( 80 =
2400

49 ( 100 =
4900

67 ( 100 =
6700

98 ( 100 =
9800
Wir wiederholen (6)

60 : 12 =
5

75 : 25 =
3

90 : 15 =
6

99 : 11 =
9

52 : 13 =
4

90 : 18 =
5

96 : 16 =
6

42 : 14 =
3

70: 14 =
5
